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[Partl F#%]
1 fAX (T ) &85,

2 H757<l%( You )&725%,
3 1% (He ) &75%,

4 4% ( She ) &75%,
5 ZNF(It) &72%,

6 B HIX(We ) &78%,
7T #51X (They ) &75%.

[Part2 Fiifi k4]
1 #AD (my ) &75%,

2 HI%TD(your )&75%.

3 ko (his ) 725,

4 4 dD (her ) &725,

5 ZD (its L7825,

6 #7572 @ ( Takashi’s ) &7325,
7 #D (his ) L7825,

8 4z (her ) &7325,

9 B 7=HD (our ) &725,
10 H727<7=HD( your )&78%,

11 #%5D ( their ) &£725.

Partl1 11 2 You 3 He 4 She 51t 6 We 7 They
Part2 1 my 2 your 3 His 4 Her 5 Its 6 Takashi’s 7 his 8 her

9 our 10 your 11their
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